

$$\mathbb{C} \supset \mathfrak{h}$$

$$\mathfrak{h}_{\bigtriangleup_0}\mathfrak{h}_{\bigtriangleup}\mathbb{C}\ni \mathfrak{q}\text{ int}\iff \bigvee \mathfrak{q}\in \mathfrak{h}_{\bigtriangleup_{1+0}}\mathbb{C}\colon \quad d\mathfrak{q}=\mathfrak{q}$$

$$0\!:\!I\!:\!1\stackrel{\gamma\!:\!\eta}{\text{stet}}\!\rightarrow\!o\!:\!\mathfrak{h}\!:\!z\Rightarrow\partial\left(\eta\ominus\gamma\right)=\partial\eta\ominus\partial\gamma=\underbrace{z-o}-\underbrace{z-o}=0$$

$$\int^{\eta}\mathfrak{q}-\int^{\gamma}\mathfrak{q}=\int^{\eta\ominus\gamma}\mathfrak{q}=0$$

$$^z\mathfrak{q}=\int^{o|z}\mathfrak{q}\text{ well-def}$$

$$\mathfrak{q}\in \mathfrak{h}_{\bigtriangleup_{\mathbb{I}}}\mathbb{C}\begin{cases} ^z\partial\mathfrak{q} = ^z\mathfrak{q} \\ ^{\bar{z}}\partial\mathfrak{q} = ^{\bar{z}}\mathfrak{q} \end{cases}$$

$$\bigwedge_{c\in \mathfrak{h}}\bigvee c\in \text{ }^C_{\text{rund}}\sqsubset \mathfrak{h}$$

$$\bigwedge_{z\in C}o|z\ominus o|c=c|z\Rightarrow$$

$$\begin{aligned} \overline{^z\mathfrak{q}-^c\mathfrak{q}-\begin{bmatrix} z-c&z^*-c^* \end{bmatrix}\begin{bmatrix} ^c\mathfrak{q} \\ z \\ ^c\mathfrak{q} \\ \bar{z} \end{bmatrix}} &= \overline{^z\mathfrak{q}-^c\mathfrak{q}-\left(z-c\right)^c\mathfrak{q}-\left(z-c\right)^*\mathfrak{c}^c\mathfrak{q}} = \overline{\int^{o|z}\mathfrak{q}-\int^{o|c}\mathfrak{q}-\left(z-c\right)^c\mathfrak{q}-\left(z-c\right)^*\mathfrak{c}^c\mathfrak{q}} \\ &= \overline{\int^{c|z}\mathfrak{q}-^c\mathfrak{q}-\int^{c|z}dz-\frac{c}{\bar{z}}\mathfrak{q}\int^{c|z}d\bar{z}} = \overline{\int^{c|z}\underbrace{dz\mathfrak{z}\mathfrak{q}+d\bar{z}\frac{c}{\bar{z}}\mathfrak{q}-dz\mathfrak{z}^c\mathfrak{q}-d\bar{z}\frac{c}{\bar{z}}\mathfrak{q}}}} = \overline{\int^{c|z}dz\underbrace{\mathfrak{z}\mathfrak{q}-\frac{c}{\bar{z}}\mathfrak{q}}+d\bar{z}\underbrace{\frac{c}{\bar{z}}\mathfrak{q}-\frac{c}{\bar{z}}\mathfrak{q}}}} \\ &\leqslant \overline{z-c}\underbrace{^{c|z}\overbrace{\mathfrak{z}\mathfrak{q}-\frac{c}{\bar{z}}\mathfrak{q}}^{\bullet}+^{c|z}\overbrace{\frac{c}{\bar{z}}\mathfrak{q}-\frac{c}{\bar{z}}\mathfrak{q}}^{\bullet}}}_{\smash{\sim}0}\Rightarrow \mathfrak{q}\text{ diff in c}\begin{cases} ^c\partial\mathfrak{q} = ^c\mathfrak{q} \\ ^c\partial\mathfrak{q} = ^c\mathfrak{q} \end{cases} \end{aligned}$$

$$d\mathfrak{q}=\mathfrak{q}\text{ stet}\;\Rightarrow\;\mathfrak{q}\in\mathfrak{h}_{\bigtriangleup_{1+0}}\mathbb{C}$$